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3O %LE ),6B&RGH 1DPH 1DW &OXE %/ <2% 5RXQG
-XJHQG�,�P������P�
�� ��� (502/29�*HRUJLL $87 :69�5DPVDX�'DFKVWHLQ 67 ���� $�)LQDO
�� ��� ������� 67,0$&�0DWLMD &52 ���� $�)LQDO
�� ��� 67(85(5�3DWULFN $87 69�5HXWWH�=ZHLJYHUHLQ�6FKLODXI 7 ���� $�)LQDO
�� ��� ������� 67()$1&,&�%RULV &52 ���� $�)LQDO
�� ��� +2(//:,57+�1LFRODV $87 68�(LGHQEHUJ 2g ���� $�)LQDO
�� ��� :$.2/%,1*(5�6DPXHO $87 .LW]E�KHOHU�6NL�&OXE��.�6�&�� 7 ���� $�)LQDO
�� ��� ������� 3$8729�1LNLWD &=( ���� 6HPL�)LQDOV
�� ��� +$+1�6WHIDQ $87 68�(LGHQEHUJ 2g ���� 6HPL�)LQDOV
�� ��� 0,//21,*�-DNRE�7RELDV $87 6NLOlXIHUYHUHLQLJXQJ�9LOODFK . ���� 6HPL�)LQDOV
��� ��� .<5$/�6LPRQ &=( ���� 6HPL�)LQDOV
��� ��� 638//(5�)ORULDQ $87 86&�$/7(10$5.7�=$8&+(16(( 6 ���� 6HPL�)LQDOV
��� ��� ������� 1$*/,&�%RUQD &52 ���� 6HPL�)LQDOV
��� �� ������� 3$/'86�0DWHM &=( ���� �������
��� �� ������� .8%$�0DW\DV &=( ���� �������
��� �� %(5*(5�3KLOLSS $87 :69�0XUDX 67 ���� �������
��� �� 3$3286&+(.�9LNWRU $87 ���6SRUWYHUHLQLJXQJ�+RKH�:DQG 1g ���� �������
��� �� 6$/&+(5�3DXO $87 8QLRQ�5DLND�2EHUWLOOLDFK 7 ���� �������
��� �� /$+(5�)HOL[ $87 6FKLXQLRQ�%g+0(5:$/'�,QWHUVSRUW 2g ���� �������
'16 �� ������� %5$'1$�9LWHN &=( ����

-XJHQG�,�Z������P�
�� ��� ������� *$//(5�+DQQDK $87 :69�5DPVDX�'DFKVWHLQ 67 ���� $�)LQDO
�� ��� ������� 6&+5(03)�0DULH $87 :69�5DPVDX�'DFKVWHLQ 67 ���� $�)LQDO
�� ��� *$11(5�6HOLQD $87 8QLRQ�5DLND�2EHUWLOOLDFK 7 ���� $�)LQDO
�� ��� ������� .$,1=�(OOD $87 $69g�/DQJODXI�0�U]WDO 67 ���� $�)LQDO
�� ��� 6&+5(03)�/RXLVD $87 :69�5DPVDX�'DFKVWHLQ 67 ���� $�)LQDO
�� ��� '5(;(/�0DULH $87 1RUGLF�7HDP�$EVDP 7 ���� $�)LQDO
�� ��� 683$1=�6DULQD $87 6SRUWXQLRQ�5RVHQEDFK . ���� 6HPL�)LQDOV
�� ��� 69$1'29$�6DQGUD &=( :69�5DPVDX�'DFKVWHLQ 67 ���� 6HPL�)LQDOV
�� ��� 6&+$))(5+2)(5�/HD $87 6NLWHDP�786�.ULHJODFK 67 ���� 6HPL�)LQDOV
��� ��� *,(67+(8(5�,OY\ $87 6.,&/8%�.8&+/ 6 ���� 6HPL�)LQDOV
��� ��� ������� *$63$5$&�&KLDUD &52 ���� 6HPL�)LQDOV
��� ��� /,1'1(5�)DQQL $87 $6.2(�9LOODFK . ���� 6HPL�)LQDOV
��� �� )$/.(16$00(5�-XOLD $87 $6.2(�9LOODFK . ���� �������
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3O %LE ),6B&RGH 1DPH 1DW &OXE %/ <2% 5RXQG
��� �� (&.0$,(5�.ODUD $87 16&�0LWWHUEDFK 1g ���� �������
��� � 67(1%$&.$�/LQQHD $87 ���6SRUWYHUHLQLJXQJ�+RKH�:DQG 1g ���� �������
��� �� :(,7*$66(5�/HD $87 6&+,./8%�6$$/)(/'(1 6 ���� �������
��� � ������� %$5,&(9$&�1LYHV &52 ���� �������
��� �� $1'5$6&+.2�-DQD $87 6FKLXQLRQ�%g+0(5:$/'�,QWHUVSRUW 2g ���� �������
'16 � ������� %286.29$�.DUROLQD &=( ����
'16 �� )8&+6�$QQD $87 6.,&/8%�(/6%(7+(1 6 ����

-XJHQG�,,�P������P�
�� ��� ������� (,6&+(5�(OLDV $87 86&�$720,&�6W��/HRQKDUG�+: 1g ���� $�)LQDO
�� ��� ������� .$51,&$5�/RYUHQF 6/2 ���� $�)LQDO
�� ��� ������� 67(,1%$&+�+\QHN &=( ���� $�)LQDO
�� ��� ������� :$/&+(5�1LNODV $87 81,21�69�*5266$5/ 6 ���� $�)LQDO
�� ��� ������� $1726�/XNDV &=( ���� $�)LQDO
�� ��� ������� 7267�-RVHSK $87 ���6SRUWYHUHLQLJXQJ�+RKH�:DQG 1g ���� $�)LQDO
�� ��� ������� 0$5,1.2�-DND 6/2 ���� 6HPL�)LQDOV
�� ��� ������� 35200(**(5�6DPXHO $87 81,21�69�*5266$5/ 6 ���� 6HPL�)LQDOV
�� ��� ������� 6$/&+(5�$QWRQ $87 8QLRQ�5DLND�2EHUWLOOLDFK 7 ���� 6HPL�)LQDOV
��� ��� ������� 6(,)(57�-RHO $87 :69�38&+(1678%(1 1g ���� 6HPL�)LQDOV
��� ��� ������� *$//(5�7RELDV $87 6SRUWXQLRQ�$EWHQDX 6 ���� 6HPL�)LQDOV
��� ��� ������� *+(5*+(/�6WHIDQ�3DXO 528 ���� 6HPL�)LQDOV
��� ��� ������� &2-2&$58�,RVXD 528 ���� �������
��� �� ������� /$66(5�'DQLHO $87 ���6SRUWYHUHLQLJXQJ�+RKH�:DQG 1g ���� �������
��� ��� ������� 63251�7LQH 6/2 ���� �������
��� �� ������� +2))0$11�2QGUHM &=( ���� �������
��� �� ������� 69$5&�0LFKDO &=( ���� �������
��� ��� ������� 3$//�*DERU 528 ���� �������
��� �� ������� /$1.�$OEHUW &=( ���� �������
��� ��� /$+(5�9DOHQWLQ $87 6FKLXQLRQ�%g+0(5:$/'�,QWHUVSRUW 2g ���� �������
��� �� ������� 1$*/,&�0DWLMD &52 ���� �������
��� ��� 026(5�7RELDV $87 //�5$'�63&�/LHQ]HU�'RORPLWHQ 7 ���� �������
'16 �� ������� 5(+25�6LPRQ &=( ����

-XJHQG�,,�Z������P�
�� ��� ������� %8&+(5�+HLGL $87 1RUGLF�7HDP�$EVDP 7 ���� $�)LQDO
�� ��� ������� 3,17(5�&KLDUD $87 $6.2(�9LOODFK . ���� $�)LQDO
�� ��� ������� 3,17(5�)LRQD $87 $6.2(�9LOODFK . ���� $�)LQDO
�� ��� ������� )8&+6�.DWKDULQD $87 :6&�%DG�0LWWHUQGRUI 67 ���� $�)LQDO
�� ��� ������� (1*(/+$5'7�.DWKDULQD $87 :69�5DPVDX�'DFKVWHLQ 67 ���� $�)LQDO
�� ��� ������� 0$-(71<�0DUWD $87 :69�5DPVDX�'DFKVWHLQ 67 ���� $�)LQDO
�� ��� *(+5,1*�$QQD $87 6&�7DQQKHLPHUWDO 7 ���� 6HPL�)LQDOV
�� ��� ������� /,1'6%(5*(5�-XOLD $87 //�5$'�63&�/LHQ]HU�'RORPLWHQ 7 ���� 6HPL�)LQDOV
�� ��� ������� &+5729$�0LFKDHOD &=( ���� 6HPL�)LQDOV
��� ��� ������� 3,&+(/%$8(5�/LQD $87 ���6SRUWYHUHLQLJXQJ�+RKH�:DQG 1g ���� 6HPL�)LQDOV
��� ��� ������� =%5$1.29$�(PLO\ &=( ���� 6HPL�)LQDOV
��� ��� ������� 3$3286&+(.�,GD $87 ���6SRUWYHUHLQLJXQJ�+RKH�:DQG 1g ���� 6HPL�)LQDOV
��� �� ������� 3$//�%RJODUND 528 ���� �������
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3O %LE ),6B&RGH 1DPH 1DW &OXE %/ <2% 5RXQG
��� �� ������� 638//(5�$QQD $87 86&�$/7(10$5.7�=$8&+(16(( 6 ���� �������
��� �� ������� &=(5:(1.29$�7HUH]D &=( ���� �������
��� �� ������� ,/.�*HRUJLDQD 528 ���� �������
��� �� ������� .9(6,&�+DQD &52 ���� �������
'16 �� ������� 75,*/(5�(YD $87 6&+,./8%�6$$/)(/'(1 6 ����

0HQ���-XQ�P������P�
�� ��� ������� 6&+/2(*(/�0DULR $87 :69�5DPVDX�'DFKVWHLQ 67 ���� $�)LQDO
�� ��� ������� 6.(1'(5�0DUNR &52 ���� $�)LQDO
�� ��� ������� .$,1=�-DNRE�(YHQ $87 $69g�/DQJODXI�0�U]WDO 67 ���� $�)LQDO
�� ��� ������� 67(,1(5�&KULVWLDQ $87 $6.2(�9LOODFK . ���� $�)LQDO
�� ��� ������� .21<$�$GDP +81 ���� $�)LQDO
�� ��� ������� ,6/,7=(5�$QGUH $87 6.,&/8%�:$*5$,1 6 ���� $�)LQDO
�� ��� ������� /,1'6%(5*(5�)DELDQ $87 //�5$'�63&�/LHQ]HU�'RORPLWHQ 7 ���� 6HPL�)LQDOV
�� ��� ������� 6,/+$�2QGUHM &=( ���� 6HPL�)LQDOV
�� ��� ������� 6&+02(/=�6LPRQ $87 69�81,21�:,(1(5:$/' 1g ���� 6HPL�)LQDOV
��� ��� ������� 3$9/$6(.�6LPRQ &=( ���� 6HPL�)LQDOV
��� ��� ������� 9<6.2&,/�'DYLG &=( ���� 6HPL�)LQDOV
��� ��� +8$1*�-HWW $87 $69g�1RUGLF�7HDP�6DO]NDPPHUJXW 2g ���� 6HPL�)LQDOV
��� �� ������� 6&+:$5=(5�/HRSROG $87 81,21�632579(5(,1�7+$/*$8 6 ���� �������
��� ��� ������� 5$7+*(%�1LFR $87 6NLFOXE�(U]EHUJODQG 67 ���� �������
��� �� ������� :(,1+2))(5�0DUWLQ $87 ���6SRUWYHUHLQLJXQJ�+RKH�:DQG 1g ���� �������
��� �� ������� (/0(&.(5�5DSKDHO $87 6FKLXQLRQ�%g+0(5:$/'�,QWHUVSRUW 2g ���� �������
��� ��� 0(7=1(5�7KRPDV $87 :69�5DPVDX�'DFKVWHLQ 67 ���� �������
'16 �� ������� :,(6(5�3KLOLS $87 :69�75$,6(1�6., 1g ����
'16 �� ������� $8*67(1�-DNXE &=( ����

:RPHQ����-XQ�Z������P�
�� ��� ������� /2*21'(5�$QQD�0DULD $87 6SRUWXQLRQ�5RVHQEDFK . ���� $�)LQDO
�� ��� ������� %2*1(5�0DLNH $87 816&�.REHQ] 67 ���� $�)LQDO
�� ��� ������� )(5&+(5�1DGLQH $87 $6.2(�:69�67$//�:,/'(** . ���� $�)LQDO
�� ��� ������� 5$1'$.29$�+DQD &=( ���� $�)LQDO
�� ��� ������� (1*(/+$5'7�0DJGDOHQD $87 :69�5DPVDX�'DFKVWHLQ 67 ���� $�)LQDO
�� ��� ������� 786/29$�$JDWD &=( ���� $�)LQDO
�� ��� ������� 7$;(5�$QQD�/HQD $87 6.,&/8%�:$*5$,1 6 ���� 6HPL�)LQDOV
�� ��� ������� 3217$6&+�0LULDP $87 6FKLFOXE���%DG�.OHLQNLUFKKHLP . ���� 6HPL�)LQDOV
�� ��� ������� 32(/=/(,71(5�&DULQD $87 81,21�632579(5(,1�7+$/*$8 6 ���� 6HPL�)LQDOV
��� ��� 5$7+*(%�$QMD $87 6NLFOXE�(U]EHUJODQG 67 ���� 6HPL�)LQDOV
��� ��� ������� .$+28129$�9LNWRULH &=( ���� 6HPL�)LQDOV
��� ��� +8%,1*(5�(YD $87 6NLFOXE�(U]EHUJODQG 67 ���� 6HPL�)LQDOV
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